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Question Image
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The number of elements in power set {a,b,c,d} is.

The set havig only one element is called

Question Image

A set with no element is called

The differente number of ways to describe a set are.

Which of the followig is the set of first hundred whole number

A collectionof well -defined distinct objects is called
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Given that f(x) =3x +1 , if f(x)= 28 ,then the value of xis.
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Null set
Power set
Subset

. Singleton set

. Infinite set
Subset
Supper set
. Finite set

Subset

Null set
Super set

. Singleton set
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subset
Power set
Set

Venn diagrm

f is injective
. fis surjective
. fis bijective
. fis into only

3
9

18
27

a+1

a<sup>2</sup>-a
a<sup>2 </sup>+2a+1
. a<sup>2 </sup>+ 1
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If A=(1,2,3,4} and B= (x.y.Z}, then Cartesian product of A and B contains exactly
............... element.
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